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Question Number : 1 Question Id : 51714412632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which learning style is associated with understanding information through
patterns and relationships?

o) e 30 Sirare grofarge e HErarTeR) @tho DB e

®i00000350 606 7
Options :
Visual
1. % CSJ%‘S
Auditory
2. % (#es
Kinesthetic
8555
3. %
Logical
4 E@D&gﬁ

Question Number : 2 Question Id : 51714412633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a traditional lecture-based classroom, who primarily controls the flow of
information?

PoEITrahE edaegd eprd $5K8 Kost Hdmaet @arard)) DaHolBoHdd JBh?



Options :

Students
3}550550@3
[

Feers
2 % SBarts

Educational technology

 DoDRcDH FPoS8Es
3. %

Teacher
4. 5*365%3{53

Question Number : 3 Question Id : 51714412634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How do support materials contribute to effective teaching?
aiatgéj ﬁmno;m ﬁa’mg F55% e DS5eEBIoN?

Options :

By replacing the need for teacher involvement.
| % H5HD HHohH o808 E,“SESD Sc50e ApNey

By providing a distraction-free environment.
ﬁiﬂ@’@%oé?} arardno BOA0HhE teqoe
E

By facilitating varied learning experiences.

3 @ DG ©grgd edgraroih hegsdo Sa%0és Ao



By automating assessment and grading.
0605, BBord oo wredo Dcsne apNe

Question Number : 4 Question Id : 51714412635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The term "elective courses” in a choice-based education system refers to
courses that:

208 eagred Sjméégaéﬁ Qé}&?ﬂ %ﬁ{ﬂg\j@} oRm &% OMHD 55653‘3@

Options:

Are mandatory for all students
=lolnleY E}Eﬁt’éﬁgﬂé SRV00

1. %
Are chosen by teachers for students
Degthe B8 SHein JobE DI
2. % p
Students can choose based on their preferences
Dergoen 778 ([ErerisSe oxoe dobE Sar
3.v “ >
Are only related to physical education and sports
FBBE D, Bod SrED Bon0HoDHE
4, %

Question Number : 5 Question Id : 51714412636 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of ICT-based learning tool?
& BIDD RS OB ICT-w5rds8 ey HBE5KD

Options :

Whiteboard and marker
@géﬁﬁ% Vislevn R vie)leY

Chalk and blackboard
28, $9 éf’éﬁj

2. ®
Printed texthook
Se(BoDS arargod HHEHD
3. ®
Educational software on a tablet
3E5 2 Doy DAGH FHI6
4. =

Question Number : 6 Question Id : 51714412637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Why is "replicable" an important feature of research?
(23B80H0R @R Jothaew 58885 SmnggeEsan

Options :



It allows researchers to keep their methods secret.
©8h HB855%en &5 ;'jgéjﬂéj B5g0re S0BEPRNE SHDPRIEE0E

It ensures that research findings are applicable only to specific cases.
8" @’Jééé Bhos® SrEh 58885 St $80Tken Ko

2. ®
It allows other researchers to repeat the study to verify the results.
@8 =288 HBESHen o HDaresH HBSrHEHD eggahido SBA
Somérden 0vHod

3.¢ B
It prevents other researchers from using similar methodologies.
=288 H8888Hen wenHoB mga}um Evtat=vlelns KJSB&:.‘@DDE}

4. %

Question Number : 7 Question Id : 51714412638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Post-positivist researchers are more likely to:

éjﬁ% @ﬁﬁéﬁfﬁ% $588%¢5%en QEDES Dograjgore

Options :

Completely disregard quantitative data

- IPOre HBerd)E SerodR ASEo e

Focus solely on subjective experiences
e&éé'go‘ﬁj ER0ETPET°E) 20 :ﬁﬁ“:,é’q A Ee
2. ® o



Acknowledge their own biases and limitations in research

$588%556° 850 S0 Darere, H6dhded B0
3.¢

Reject the need for peer review and validation
&Barh ‘5‘3&‘05, tﬁaﬁ)éfﬁme_} ©DITR) BEHBFD

Question Number : 8 Question Id : 51714412639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The APA referencing style is primarily used in which academic disciplines?
APA 858010 3D Frproetorr o) duhonod FHoS GHEPATE

Options :

Social sciences

oy Foren
1.9 %U &

Natural sciences
Dees @laen

Engineering

3 % 508080

Medicine



Question Number : 9 Question Id : 51714412640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How can ICT assist in the literature review process during research?
588%5:56° (Hog HWBH ICT ey H:PEBoS Keth?

Options :

By providing opportunities for plagiarism
& (of T B edsearen SO

1. %

By allowing researchers to skip the literature review phase

% H88 8% Ko Eéfbg B&0 méﬁé&@n Dc50é apN e
2. %

By offering access to online databases and academic journals

& 6388 Swrod FrHoren, HugHBEed HREo Edoher txoe
3.¢ ot

By replacing the need for citations and references

eBparen. [HFEHden, @ioeg) godcne awo
4. %

Question Number : 10 Question Id : 51714412641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



What is the function of an "Appendix" section in a thesis?
50888 e aaﬁ”;éméﬁ " @2088) " Dgrits) DB &

Options:

To introduce the main research question
58880 SoggEHD HBScho S5

1. %

To provide additional details that support the main text
5 Soggardsiogrd Eﬁjiéé}r@ @i5d) Ddoredy Bl

To summarize the research findings
5B ST KRR Holifsorr 3o Aol

3. %

To present the author's personal opinions

Baomes se8re gradied mding oxoe
. 581 g Bl oy
Sub-Section Number : 2
Sub-Section Id : 517144515
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714412642 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

H50RE: (ot mixabd Sirarbo egrdore Q. 115506 Q. 15 HEpH Sirgrarom
[@raob.
The Castle of Edinburgh is free (as appears fo be the case with all garrisoned places in

Great Britain) to the entrance of any peaceable person. So we went in, and found a
large space enclosed within the walls, and dwellings for officers, and accommodation
for soldiers, who were being drilled, or loitering about; and as the hill still ascends within
the wall of the castle, we climbed to the summit, and there found an old soldier whom
we engaged to be our guide. He showed us Mons Meg, a great old cannon, broken at
the breech, but still aimed threateningly from the highest ramparts; and then he admitted
us into an old chapel, said to have been built by a Queen of Scotland, the sister of
Harold, King of England, and occupying the very highest part of the hill. It is the smallest

place of worship | ever saw, but of venerable architecture, and of very solid construction.
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Sub questions

Question Number : 11 Question Id : 51714412643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Thereis a inside the boundary wall of the castle
8% 558 B S%5e a8 S06.

Options :

low hill
{’.}K& BP0

steep hill
o828 BP0l

boulder
2otsTran

rocky terrain
oed Zomgeiio

Question Number : 12 Question Id : 51714412644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

There is a intimidating from over the lofty bulwark.
08D (arseTre b8 Hod ad BOBHHER™ S0b
Options :
cannon
| aSoh



platoon of soldiers’
=, Ty
2D Yoo

group of officers’
3 x ©HsHo aotio

group of guards’
4 % POO Sdedeo
. G

Question Number : 13 Question Id : 51714412645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The old chapel is situated on the of the hill.
aods @vgaﬁ Shobto o &0b
Options :
foot
1 % B0
ridge
5 % S0LHR
summit
dpbo 2D

3.¢



surroundings
HBGTee&d

Question Number : 14 Question Id : 51714412646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The author appreciates the chapel's
BSomes @ﬂgaﬂ shobBo Ging) R DENHTH

Options:

History
nfells

’I_bé

location
He0
2.8 @

structural design
Nepl Eegensd
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ambience
e NBE0

Question Number : 15 Question Id : 51714412647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

The author visited the castle, as a
BSomes, es Bexdo 2.8

Options:

tourist

1@ émvgj@éj&rw

historian
> % DO(EsHET

soldier
B

archaeologist
HoHS) FHBEe
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Question Number : 16 Question Id : 51714412648 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0



Being an communicator helps in resolving conflicts and
misunderstandings in communication.
éa’méﬁ}éﬁ}gm So¥io Do émgﬁéﬁﬁéﬁ Dedoren HBH
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Options :
empathetic
| FrodireSire

inconsiderate

3 D039
2_ W
observant
Kdood
3. %
inconsistent
etanm
4, % il

Question Number : 17 Question Id : 51714412649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Providing clear instructions and guidance for activities in a classroom is a

strategy for _ communication
SB158 KHE® sfBerarob )aD SrSden Hbain SrditEso eobodto
©26 EX0gRBAS 6 a8 5.

Options :



controlled
1 & NdDo@odabd

procedural
» PRDBHD

unintended
3 @ Sl
content
. Sach m&@;ﬁj

Question Number : 18 Question Id : 51714412650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Being s a key to establish a genuine relationship with a
person whose linguistic and cultural background is different
araP S0Ba %ﬂ@ﬁgg@é 353@550 Ddyore &) 5’35%55 SEH Sonogrd)

DB S=08 o o8 s5to Soo

Options :

close- minded
oI a’)ﬁé*’mr:]

open- minded
DF°0 HNJE0 Bl
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self- reflexive
foﬁdi} TR

self- respectful

) ?::5@:13 aietle!
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Question Number : 19 Question Id : 51714412651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In order to have excellent decision making skills, a person needs to have
intelligence.
otisDd Abaho 8053 SJeTgen EOA S0TP008, 2.8 5588

55308 B0DBeren GOTD.

Options :

social
PN o]

psychological
S3PR0

spiritual

@m@@&é

emotional
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Question Number : 20 Question Id : 51714412652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Radio and television are the examples of media
B B0 BOD=S Sr6 s Grrseteen
Options :
electronic

1. DgHes

print
5 % (e
I social
Y T
3.
traditional
A 20(TEHE IR

Question Number : 21 Question Id : 51714412653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0



8.4,4,6, 12, 30,

Options :
1 % 79
95
2. %
90
3. ¢
105
4. %

Question Number : 22 Question Id : 51714412654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
EUILN, DWFPI, ___ CXEQH, GSKJP

Options :
FTJKO
FUILM

2. %

EULIM
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Question Number : 23 Question Id : 51714412655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word FRAME = 48 and HURDLE =74 then
FIGMENT= ?

2.8 DON T8 270’ FRAME = 48 <9005 HURDLE =74 050 eo00d

FIGMENT= ?
Options:
74
1. %
89
2. %
91
3. #®
81
4.

Question Number : 24 Question Id : 51714412656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

Shiva starts a business with an investment of Rs. 1,00,000. Pradeep joins him
after 3 months with an investment of Rs. 1,50,000. is the Shiva's share
in the total first year profit which was Rs. 51,000.

365 ¢57.1,00,000 DEPDAS T5arS0 (BFS0E0TTR. (HAD 3 T ehUr 26k
3. 1,50,000 © Denabd eSS TOW. _ INCE H0aie )50
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Options :
21,000
1. %
“ 20,000
27,000
3. %
24,000
4.

Question Number : 25 Question Id : 51714412657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

A trader loses 20% when he sells a TV set for Rs. 12,000. The percentage he will
gain by selling it for Rs. 20,000 is

2,8 50 ¢38) e Er.12,000.8 e95030953 )% 20% e, &
20,000 8 e9:22¢50 &° 50° e9eba) 80T ere T30, _

Options:

15%

1. %



33.33%
2. ¢

16.66%

25%

Question Number : 26 Question Id : 51714412658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Statements:

No village is a city.

All cities are states.

BAEATN ISV

o) DBTETH SISO 5.
@) Soren 0 le.
Conclusions:

l. Some villages are cities.
1. Some cities are states.

3T eN”
. Q) [ITadreny Sfforew.
. Q) Sforen T°lalew

Options:

| follow

Il follows



Both | & Il follows.

MNeither | nor |l follows

Question Number : 27 Question Id : 51714412659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In a class of 90 students, 60 opted Maths, 50 opted Science and 20 opted both.

How many students opted only Science?

90 0O Veedend) SEHBS 60 S0 ST, 50 H0A S, 20
06 o003 OTHET) K. D0BD0O DTzhen T D S
DOTDED®) 0?

Options:

20
1. #®

30
2. v

40
3. %

50



Question Number : 28 Question Id : 51714412660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

How is my son’s daughter’s sibling’s mother related to my wife's only son?
o §C%0 Eretnth BantYsl) HO8, ar ards 2.8 E) s
P00 el E3?

Options :
Sister

1. =

5 % Sister-in-law
Wife

3.¢¥
Aunt

4, =

Question Number : 29 Question Id : 51714412661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is signified by Udaharana of Anumana (Inference) in
Indian Logic?
&1 180073’ 2rE0% S80S eddrd (AT G) Bk Gorarden
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Options :

Statement of reason
_— s°8es0 GInE) (HBED

Proposition to be proved
QBDoSROND (B3BarED
2. ®

Conclusion proved
swnhony AtFEHoSHl0d

Universal proposition along with an instance
4 STPSTEEES ot OB (DTS

Question Number : 30 Question Id : 51714412662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements and choose the right option
6165 DE 0T O HBHEINS'E D0 HOC B eI
AW Yole

a)  Pratyaksha based on the perception of an object and Shruti based on
hearing.
28 S0 OBEY (1570 STPBOTP [H858, IVEG eSO (Hed.
b)  According to the Naiyayikas, inference is of two kinds, namely,

Svarthanumana (Inference for one self) and Pararthanumana (Inference
for the sake of others).

VOSP SONHO) (@G0, taT B0 E5°ED, ) 6 FPGaDA (25
3¢50 €2sr) DO HoefibEdd (BSBO §°00 @05wr).



Options :

Only (a)

CIBUERY
1. #

Only (b)

(b) SSe|5 5D
2. %

Both (a) and (b)

(@) D003 (b) Dodr
3.

Neither (a) nor (b)

(a) S (b)DOT 7D
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Sub-Section Number : 4
Sub-Section Id : 517144517
Question Shuffling Allowed : No
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Question Id : 51714412663 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
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The following pie charts show the results of a board examination. Total number
of students appeared for the exam is 77,000
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Percentage distihution of marks

» Failed (<35) » Third clas¥135-30) = Second class{50-60)
First Class(60-75)  » Distnction (75-85) Excellent{above 85)

Students who Failed in the exam in different subjects

v

» English = Second Language = Maths « Science = Social Studies

Sub questions
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How many students failed in Mathematics in the board exam?
5D DB S 11350 DOed O VrEen PONS eaiTsn?

Options :

1% 46200

15400

3 % 11550

4 x ST15
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If 10% of the students who appeared, got 100% of the marks in Mathematics,
then the number of students failed in Mathematics is how much percentage
more than the number of students who got 100% of marks in the same subject?
3308 DS 10% 206 HeIes0eS 100% 7000 Bt )50, ef
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50%

1. %

100%
o



150%

200%
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If 10% of the students who failed in science were made to pass by giving 5
grace marks, 40% of them secure more than 85% of the total marks in the five
subjects as a result of these grace marks. The new number of students who got
more than 85% of the marksis
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1 4312
3214

2.

% 1342
2314
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In the next year, the total number of students appearing for the exam increased
by 10% and the number of students who failed in social studies is what
percentage of the total students who appeared for the exam.
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81/3%
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3 v 10%
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The number of students who failed in Mathematics in terms of percentage is
50 NS0T Ked506S DoV o Aeetde Hows
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What is the full form of SSD?
e ae. & PO ENED

Options:

Smart State Display

1. %



Smart State Drive

“
. Solid State Display
4 Solid State Drive
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An unsolicited email message sent to many recipients at once is ........
©OrAS [ owen PG Trer 068 28r8 HodoHe

Options:

Virus
1. %

Attack

Spam

Memes
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Which of the following is a digital initiative for Robotics Qutreach Project.
655’5&&5 565 @véég £ HIDNG a8 &2ten D65

Options :

e-Vidwan
- Doeed

1% = DSM
e-Yantra

5 & B dSolss
e-Kalpa
a' é@"'

3. = =

None of the above
229 5°8)
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Firewalls are used to protect a communication network system against ........
2.8 a8 IDEYDH & BIHD od B0 Pdarenid edrRosHt



Options :

Virus attacks
IV wethen

1. %
Unauthorized attacks
) ®@NO5E oethen
Data driven attacks
Gt espebé oethen
3. ®
Fire-attacks
26 orthen
4, %
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URL stands for
Ghoe. e9b. ) edre

Options :

Universal Resource Location

Universal Response Locator



Unified Response Location

4.« Uniform Resource Locator
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Designing self-sustaining systems is a viable path towards long-term progress.
é:g}?@ ESateic @Jcﬁjo Qe fe égiﬂj@fﬁ] GEd Jciné

Options :

Irreversible and flexible
. @ﬂj;,?%@&&, SRS A

Reversible and flexible
[B5)E"Neb, @HIH6

Reversible and inflexible
[S58°N00, @DHIH6 5ot

Immutable and unchangeable
SrENDAB. SrENTeHB
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Which of the following agents is responsible for turning the Taj Mahal yellow?
SErenn 2 Dy Sl D)

Options :

Sulphur
Send

Chlorine
> % £68

Sulphur dioxide
Senb @ w86

3. ¢
Nitrogen dioxide
=S @ o586

4, %
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Why wind energy is considered a conventional source of energy?
md ¥82 dothBes DolarmrehE $8 S5t rHodtt?

Options:



as it can rotate a windmill
28 red dholeed)) SD)Neth

as it can help in lifting water
@b DB D8 HoKien

as it is readily available and used for a long time
©b 3063 EEHDH. B0 SITEROSBIND.

As it is produced due to uneven heating of the Earth
g8 eddrtorr Joinh Dol ©b &858 @D
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International Day of Natural Disaster Reduction is celebrated on...........
rfich 95 Shoz) @Joéoagécﬁj B30 RoE THEH &%

Options :
June 15
2oy 15
1. %
March 5
Eﬁ}vétj 5



October 13

- %’J%Sﬁﬁ] 13

September 13

D202t 13
4. % 9
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In which year the National Environment Protection Act was passed in India?
20805 8 et B epR) ©iBod dodéto?

Options :
1974

1. %

5 % 1981

3« 1986

4 % 1995
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Which is the first Open University in India?
B0805E° Fnisd FBY8E DIDagocHEn

Options :

Andhra Pradesh Open University
@olPHBE EYBE DI DD

Yashwantrao Chavan Maharashtra Open University

chE08 ooa) S Hoeld PSS DEDTgechEn

Indira Gandhi National Open University

- =080 rob er8ah PLBE DIDTRgeH

Nalanda Open University

L w dooor EBE HHRDogecHn
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What is the full form of ABC as per the NEP 20207
NEP 2020 ($setsim ABC eoidre

Options :

1.



Academic Basic Certificate.
“

Annual Basic Certificate.
2. %

Annual Bank of Credits

Academic Bank of Credits
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The purpose of value education is best served by focusing on...
& (B0b orlp B)a) 2GS Hend Sy GwE) ﬁé%ﬁﬁn SEre 385508

Options :

Cultural practices prevailing in the society.
HdresSns’ &) oYY eSbmen

1. %
Norms of conduct laid down by a social group
5 % 2.8 Jaire: Jehresrain DED SEDE DoHsnH

Concern for human values.

S5 Dende wodES
3.



Religious,moral practices and instructions
508, DB es58esren, stiden
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The best way for providing value education is through?
Dend) D ©ohoheoth HBALS 5GBS

Options :

Discussions on scriptural texts
_— e (Hogreg SBen

Lectures/discourses on values

5 % endop eHTgEReD, (Hhdorren

Seminars / symposia on values
QNN S/ 55%6_1}

Mentoring / reflective sessions on values
Dended &S B¥/ 1H8Doa SErRFen
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The full form of SAMVAY is......
SAMVAY ?’.gjvg SYLPSTNYY

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

School Assessment Matrix for Vocational Analysis of Youth

Skill Assessment Matrix for Vocational Analysis of Youth

3 Skill Accreditation Matrix for Vocational Advancement of Youth

School Accreditation Matrix for YVocational Advancement of Youth

Paper II
Section Id : 517144168
Section Number: 2

Section type: Online



Mandatory or Optional : Mandatory

Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144519
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 51714412684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The high land between two streams belonging to the same dramnage system 15 called
Options:
1 % Hogback
Yardang
% g

3 % Spit

4. Interfluve
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The statement “Landscape 1s a function of structure, process and stage™ was given by
Options :

J.Hutton

5 % Penck

3 ¢ Davis

Playfair
4. %

Question Number : 53 Question Id : 51714412686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

A stone pebble desert 1< called

Options :



3 % Hamma da

4 % Inselberg

Question Number : 54 Question Id : 51714412687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Attrition 1s a process of erosion which involves

Options :

Effect of flow upon the river bed
1. %

5 The shattering and breaking up of the stream load through collision

Construction of flow which raises the veloecity of the stream

The lhifting and quarrying effect of rushing water
4. %
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Which of the following features may occur when lava cools at the surface?
Options :

Basalt plateau

5 % Batholith

3 % Lap olith

Question Number : 56 Question Id : 51714412689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following landforms 1s produced by the head ward recession of cirques?
Options :

1. % Esker

2  Arcte

 Fjord
3. ®

4 % Hanging Valley
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The long axis of a drumlin 1s parallel to the direction of

Options:

1. % Dip

Wind Movement

Ice Movement
3. v

4 % Riverflow
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The transverse profile of a glaciated valley is

Options :

1. % V-shaped

s Y-shaped



3 % I-shaped

v U-shaped
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If sand 1s brought more rapidly to the beach than it can be carried away. there will

be

Options:

_— Retrogradation

5 % Degradation

o AL gradation

Progradation
4.4 F
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Arrange the following sedimentary rocks in ascending order according to their texture
A. Gravel B.Sand C.Clay D.Silt

Choose the correct option

Options :

| = AB.C&D

> % D.C,B&A

; v C.D.B&A

4 % D.C.A&B
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Which of the following 1s formed due to the filling of lakes

Options :

1 % Piedmont plateau

Lacustrine plateau
2. A

3 % Alluvium plateau

4 % Peninsula
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Which of the following pairs 1s/are mncorrect
Options:

1. % Gassi- Desert

5 & Tombolo — Karst

3 % Plunge pool — River

4. % Craig & Tail — Glacier
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The point where the old and rejuvenated profile meet is known as

Options :

1 = Gorge



5> « Kanickpoint

3 % Down cutting

4 % Terraces
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The Coriolis force increases progressively towards the

Options :

Equator
- quator

> Poles

Greenwich

Tropics
4. %
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Which of the following 1s not a type of precipitation

Options:

1 w Haze
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Halo 1s a typical characteristic of clouds

Options :

1. = Cirrus

- Cumulus

3 Cirrostratus



4. % Stratus
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Which of the flowing winds is/are hot winds?
A. Chinook B.Foechn C. Mistral D. Sirocco
Choose the correct answer using the codes given below

Options :

1. % A.B & C Oaly

2 « A,B & D Only

3 % B.C&DOnly

4 % AB.C&D
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Which of the following are ideal situation for inversion of temperature?
A. Good Air Quality

B. Cloud formation

C. Thunderstorm Prevention

D. Trapping of Smog

Select the correct answer using the codes given below

Options :
1 ¢ B.C&D

_ A B&T
2. %

ALB&C

A & C Oualy
4, %
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What is the eyewall of a tropical cyclone?

Options :

The outermost region of the storm with the lowest wind speeds
1. %

5 % The central region of calm and clear weather within the storm

3. The area surrounding the eye with the strongest winds and heaviest rainfall



The point where the storm makes landfall
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Which of the following i1s a common characteristic of temperate cyclones?

Options:

1. % They are fueled by high sea surface temperatures

5 % They have well-defined eyewalls and spiral rainbands

3 ¢ They often have fronts and undergo occlusion

They primanily form over tropical oceans
4. %
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Guyots refer to



Options :

_— Low islands found in the tropical oceans

5> % Deep Valleys

3 % Shallow Zones of continental slope

Underwater mountain in the sea
4.
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Which of the following factors has no or negligible effect on the salinity of oceans?

Options :

_— The rate of evaporation

5« Salts released by marine voleanoes

3 % The amount of freshwater added by rivers. iceberg and rainfall

4 % The degree of mixing by the ocean currents
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Tidal currents are

Options :

Tides which are channeled between islands. bays & estuaries

w Combination of tides and currents

3 % Strong tides that have potential to extract tidal energy

4. % D'F.‘ép water oc<an currents
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Consider the following statements:

A. The Antarctic circumpolar current(ACC) 1s driven by the strong westerly winds in
the latitudes of the southern ocean

B. The ACC connects Atlantic. Pacific & Indian Ocean and flows completely around
the globe

Which of the above statements is/are correct?

Options :

A Only

1. #



5 % B Only

BothA& B
3.¢¥

Neither A nor B
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Which of the following 1slands are not coral 1slands?
Options:

Maldives
)

2. # Lakshadweep Islands

3 Andaman & Nicobar Islands

4. % Bermuda Islands
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The world’s best fishing grounds are formed where

Options:

1. % Coastal areas adjoin high density of warm currents

2 Warm and cold currents meet

3. % Deep marine trenches are found

Warm and cold air meet
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Within earth’s ocean and atmosphere. Rossby waves form as a result of
Options :

Rotation of the planet
1.4

5 % Churning of oceans

Tectonic movement beneath ocean plates
3 %



Collision of clouds
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Agulhas current 1s a major ocean current in

Options :

1. ¢ Indian Ocean

5> % Atlantic Ocean

Pacific Ocean
3. %

w Arctic Ocean
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Turbidity currents theory was proposed by

Options :



1 % Bucher

> % Daly

3. v F].L"I'I'e].

Andrew
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Which of the following 1s not a part of Indian Ocean Ridge?

Options :

Carlsberg Ridge

5> % Mascarene Ridge

 Crozet Ridge

4 Nansen Ridge
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Which trophic level has the highest energy content per unit of biomass?
Options :

Prim ary Consumers

Secondary consumers
2. %

Tertiary consumers
3. %

Producers
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What term describes the interconnected feeding relationships within an ecosystem?

Options :

., Energyp yramid

5 % Trophic cascade



Food web
3.¢

Biogeochemical eycle
4. %
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Which ecological pyramid depicts the number of organisms at each trophic level in an
ecosystem?

Options:
Pyramid of numbers

1.

Pyramid of biomass

3 % Pyramid of energy

Pyramid of diversity
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Deep ecology advocates for

Options:

Exploiting natural resources for economic gain

w Viewing nature primarily as a resource for human use

3 ¢ Valuing the intrinsic worth of all living bemgs and ecosystems

Using technology to separate humans from the natural world
4. %
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Which approach suggests that humans are just one part of the interconnected web of
life and have no mherent superiority over other species?

Options :

Anthropocentrism
1. %

Biocentrism
2.



Ecocentrism

4 % Techno-centrism
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Which environmental hazard is characterized by the excessive accumulation of
greenhouse gases in the atmosphere. leading to global temperature rise?

Options :

1 % Earthquake

5 % Volcanic eruption

3 Climate change

4. % Landshde
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Which of the following is a potential impact of urban heat 1slands?

Options :

1 % Decreased air pollution

2. % Lower CNCTIY CO1s lllllpti.ﬁll

3 % Enhanced cooling effect in cities

Elevated energy demands for air conditioning
4.
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What 15 the main consequence of global warming on ecosystems and biodiversity?

Options :

1 % Increased species diversity

5 % Improved habitat conditions for all species

Disruption of ecosystems, loss of species., and shifts i species distribution

w Decreased competition among species
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Which of the following 1s an international agreement ammed at addressing climate
change by limiting global warming and reducing greenhouse gas emissions?

Options:

1. % Rio Protocol

Montreal Protocol
2. %

Kyoto Protocol
3 %

Paris Agreement
4.
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Which policy or mnitiative aims to improve air quality by setting national standards for
air pollutants and regulating industrial emissions?

Options :



1 % Clean Water Act

> % Endangered Species Act

Clean Air Act

Environmental Protection Act
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The concept of "replacement-level fertility” refers to

Options :

The number of children a woman needs to have to replace herself and her
1 Partner i the population

. The level of fertility required to stabilize the population at its current size
2. ®

The fertility rate in developed countries
3. %

The number of children born each year worldwide
4, %
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In which stage of demographic transition do birth rates remain high while death rates
start to decline, leading to rapid population growth?

Options :

1 = Stagel

2 Stage 2

3 % Stage 3

Stage 4
4, % T°F
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Which theory suggests that population tends to grow exponentially while resources
orow arithmetically. leading to overpopulation and competition for resources?

Options:

Demographic Transition Theory
1. %



Malthusian theory

2 % Dependency theory

Modernization theory
4, %
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According to Ricardo's "Law of Diminishing Returns." what happens when additional
labor 1s added to a fixed amount of land in agricultural production?

Options :

Total output increases proportionally

o Total output increases without limit

Total output increases at a decreasing rate
3.¢

. Total output remains constant
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What 1s the Age-Specific Fertility Rate (ASFR)?
Options :

The number of live births per 1.000 population in a given year
1. %

The average number of children per woman in a specific age group
2. %

The number of live births per 1.000 women of childbearing age in a specific

3 o Age group

% The number of live births per 1.000 infants in a speeific age group
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Childe's theory of urbanization suggests that towns emerged as a result of
Options:

1 % Centralized political power

5 % Expansion of nomadic cultures



Social inequalities and conflicts

4 Agricultural surplus and the need for specialized tasks
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Christaller’s concept of centrality is based on
Options :

o, Hierarchy

Law of Gravitation

3 % Principle of least effort

Range of goods
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Nested Hierarchy theory was given by
Options :

1. % A. Geddes

5 % G. Taylor

T 1
3 % BJIL Berry

Linnaesus
4.
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Which theory suggests that towns originated due to their strategic location along trade
routes?

Options:

1 % Agricultural surplus theory

5 % Urban revolution theory

3 Trade route theory



Hydraulie theory
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In cities. Poverty can contribute to
Options :

Reduced income inequality
1. %

Gentrification and urban renewal

Social segregation and inequality

4 % Robust public transport system
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What factor plays a significant role in determining the location of economic activities
such as agriculture and mdustries?

Options :



1. % Cultural practices

o Government policies

2.
3 Availability of natural resources
4 % Historical monuments
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What role do urban centers play in the spatial organization of economic activities?
Options :

| % They deter businesses due to congestion and pollution.

5 « They provide access to skilled labor and markets.

3 % They lead to increased transportation costs.

They hinder technological advancements.
“ g
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Which factor primarily determines the distribution of natural resources on Earth?
Options:

1 % Political boundaries

Geological processes and features
2.

“ Economuic factors

Cultural practices
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In Von Thunen model. which type of agriculture is typically located closest to the city

center?

Options:

Commercial agriculture
1. %

Intensive agriculture
2.4 T s



i Extensive agriculture

Subsistence agriculture
4. %
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Which agricultural system emphasizes maimntaining ecological balance. resources and
minimizing environmental impact?

Options :
Organic agriculture

1.+

w Monoculture agriculture

3 % Nomadic agriculture

i Iraditional agriculture
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According to Alfred Weber’s Theory. which factor 1s not considered as a part of the
least cost location for an mdustry?

Options :

1 % Labour

Market demand
2. %

3 % Transportation cost

Agglomeration Economies
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What 1s the main driver of tourism growth 1n a region?
Options :

1 % Decrease 1n disposal income

> % Limited natural attraction

3 Positive economic conditions



4 % Political instability
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The Gravity model of spatial interaction is primarily used to predict
Options :

1 % Celestial bodies

Urban growth areas

3 ¢ Human migration patterns

4 % Consumer preferences
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The concept of complementary regions suggest that areas with different resources and
characteristics can benefit from each other through

Options:



1 ¢ Trade and exchange

Tourism development

3 % Urban growth

4 % Competition of resources
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A nodal region 1s also known as a
Options :
1 % Formal region

Functional region
2. z &

3 % Perpetual region

Homogenous region
4. %
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The flagship government health insurance scheme n India. aimed at providing
tinancial protection for hospitalization. is called

Options :

Avushman Bharat

> % Swachh Bharat

3 % Ayur Bharat

Suraksha Bharat
4. %
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The concept of Primary Health Centres (PHC’s) 1n India 1s founded on providing

Options :

1 % Specialized medical care

5 % Emergency care

3 @ Preventive and basic medical care



High-tech medical procedures
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Which state 1s primarily inhabited by the Bodo Community?

Options :

w Manipur

5 % Tripura

Nagaland
% 2

4.« Assam
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Which approach emphaiszes that social policies should aim to maximize overall
happiness and well-being?



Options :

1 % Economic growth theory

Matenalism

Utilitarianism

Social stratification theory
%
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Access to clean water, sanitation and health care are examples of factors contributing
to

Options :

- Social equality

Social Well-being

Urban growth

Economic growth
4, % a



Question Number : 116 Question Id : 51714412749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The states that share its borders with Myanmar, Bangladesh and China 1s

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

1 Tripura
> Manipur
3 West Bengal

Sikkim
4,
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Mackinder’s theory emphasized the importance of controlling the Heartland for global
dominance due to its

Options :

1 % Vast maritime resources

5> % Economic prosperity

3 v Strategic location and resources

Access to technological innovation
4, ®
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Spykman believed that controlling the Rimland would lead to dominance over
Options :
Landlocked regions

1. %

w Cultural exchanges

3 ¢ The Eurasian landmass

4 % The mner region of the Heartland
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Which country 1s often cited as having a federal system of government?
Options :

1% United Kingdom

5 % [France

China

Germany
4.9 s

Question Number : 120 Question Id : 51714412753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The Association of South East Asian Nations (ASEAN) primarily focuses on

Options :

Energy Cooperation



Political Alliance
2. =

Economic mtegration and cooperation

Military Cooperation
4, =
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Who wrote Ges-periodos?

Options:

s Anaximander
Thales

2. %

3 Hecatacus

Herodotus
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No
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The first geographer to regard the Caspian Sea as an inland sea was
Options :

1« Herodotus

5> % Eratosthenes

3 % Hipparchus

4. % Posidonius

Question Number : 123 Question Id : 51714412756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who is known as father of “Regional Geography™?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :



1. Humboldt

2. Ptolemy

3. Strabo

4. Thales

Question Number : 124 Question Id : 51714412757 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Which of the following geographer belongs to Roman School of thought?

Options :

1. % Hipparchus

> % Erato sthenes

3 « Ptolemy

4 % Thales
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Which Arab Geographer gave a detailed description of Indian Monsooons?
Options :

1 % Al-Berum

2 Al-Masudi

3. % Al-Balakhi

4% Al-Tdnis1
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Consider the following statements

A. Al-Balakhi prepared the first climatic Atlas of the world

B. Al-Magqdisi wrote Kitab-al-Hind in the year 1030

C. Al-Masudi divided the habitable world into seven nationalities
D. Al- Idnsi wrote a book called Rihlah

Choose the correct options
Options:

1 % A&D



# B&D

3. YA&C

4 % B.C&D
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Arrange the following explorers in chronological order
A. Marcopolo

B. Christopher Columbus

C. Captain James cook

D. Ferdmnand Magellan
Choose the correct options

Options :

| % AB.C,&D
5 v AABD&C

;3 » D.C.B&A

4 % AD.C&B
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The term "Aereal Differentitation " was carried by
Options :

1 % Strabo

9 o Hartshorne

Hecataeus

4. % Hettner
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Al
-

T 3 —

The given diagram 1s a component of relations between elements i systems which
represents

Options :

Series relation
1. %



5> & Feedback relation

“ Parallel relation

Complex Compound relation
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The principles of Human Geography was written by

Options :

1 ¢ Ellsworth Huntington

5 % Robert Mall

3 % Semple

Herbertson

Question Number : 131 Question Id : 51714412764 Question Type : MCQ Option Shuffling : No
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Which data source 1s often used to create Dasymetric maps?
Options :

1 % Aenal Photo

5 % Weather forecast

Satellite Imagery
3.¢

4 % Census
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Which of the following 1s an example of spatial data type used mn GIS Databases?
Options:

1 % String

5 % Integer

Point



Date
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Which vector data format 1s widely used for storing geospatial data and 1s supported
by many GIS software applications?

Options:

1 % TIEF

5, % JPEG

5 » KML

4 Shapefile
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What 15 the unit of measurement typically used in a DEM?

Options :

1.



¢ Pixels

Hertz

3 % Bytes

4« Meters
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Which term describes the difference in position between the perspective centres of
two overlapping photographs?

Options :
Polarization
Pixalation

2 %

v Parallax

4, Panming
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Which type of aerial photograph captures a wide view of the earth’s surface, typically
used for large-scale mapping?

Options :

Oblique photograph
1. %

Vertical photograph
2.

Nadir photograph
3. %

Panoramic photograph
4. %
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Which type of electromagnetic radiation has the largest wavelength?
Options :

X-rays

Infrared
W



Radio waves
3.¢

Ultraviolet
e

Question Number : 138 Question Id : 51714412771 Question Type : MCQ Option Shuffling : No
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What does the term “bit depth’ refer to in digital image processing?

Options:

The number of pixels in an image
1. %

The number of colours a pixel can represent

The resolution of an image
3. %

The size of an image n bytes
4, =
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Which measure of central tendency 1s least affected by extreme values in a dataset?

Options :

1 % Mean

2.« Median

3 % Mode

4 % Variance
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Which type of ANOVA 15 used when comparing means of three or more independent
groups’

Options :

One-way ANOV:
1I¢-11¢111}%\IL1%

w Paired ANOVA

3. % Two-sample ANOVA

Multiway ANOVA
4. %
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Arrange the following ranges of India from north to south
A. Balaghat Range

B. Ajanta Range

C. Aravalli range

D. Harishchandra Range

Choose the correct option

Options:

.« C.B.D&A

DAB&C
E

3 v C.B.A&D

4 % D.B.C&A
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Consider the following pairs

Halls States
A, Kammur Madhya Pradesh
B. Mishmi Assam
C. Javadi Tamul Nadu
D. Ramgarh Chhattisgarh

Choose the correct option

Options :

1 % AB&C

> % B Only

3 % AB&D

4 v ACE&ED
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Which of the following is/are true regarding space science centres in India

Options :
1. % Udaipur = ISTRAC
v Mahendraginn — ISRO Propulsion Complex

3. % Shadnagar - Eastern RRSC



4 % Sriharikota - Meteorological Rocket Station
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The zonal headquarters of south castern and eastern railway zone 1s at

Options :

1. % Secunderabad

o % Jabalpur

3 Kolkata

4 % Chennai
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Who are often termed as the people of the fourth world?

Options :



1% Christian
2 % Parsis

3. % Scheduled Castes

4. Scheduled Tribes
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Kachari. Miri and Xaxa are the tribes found in

Options:

1 % Nagaland

Tripura

Assam

Mizoram
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Which of the following Hot spring is located in Madhya Pradesh?

Options :

1 % Manikaran

5> % JwalaMukhi

3 % Anhoni

4 & Taptapani
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Which Agro - Climatic zone of India 1s known for its cultivation of rice. jute and
pulses?

Options :

1 % Western Coastal Plain

> « Gangetic Plain



u Western Ghats

“ Eastern Platean
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Which Five - year plan introduced the concept of decentralized planning at the
grassroots level in India?

Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options:
First Five -Year Plan

1.

5 Second Five -Year Plan

Eighth Five -Year Plan
3.

Tenth Five -Year Plan
4,
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Which factor contributes to the wvulnerability of Himalayan region to various
hazards?

Options :

w Loco elevation

High population density
2.

Dense forest cover
3. %

Lack of nivers
4. %



